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VELLORE DISTRICT
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PART - 1 (20 x 1= 20)
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PART -1l (7 x 2 = 14)

Answer any 7 questions. Q.No. 30 is compulsory.

|8 (2’|=12¢0 (1)
21
Rank = 2 - (1)
2 (22 9
,, | A= (_3 ) (1)
A2 —-3A-71,=0 ->(1)
,3 | V6—8i==%(2V2-iV2) >(2%)
24 | x®-3x+2=0 >(27)
x=0 is a root
25 | No. of real zeroes = 1 —(1)
No. of imaginary zeroes =8 ->(1)
-1 4 _E
”6 Sin (sm (n 6)) ->(1)
4 1 . Vs _ s
= sin (sm (Z)) =z ->(1)
9~%x%2>0 ->(1)
27 | |x]<3 = -3<x<3 >(1)
28 | Tangent : 2x+y+1=0 ->(1)
Normal x—=2y—=7=0 ->(1)
29 |ix(@axi)=a-a.l ->(1)
LHS =3a—a=2a ->(1)
30 | LHS = (sin@ + icos@)" ->(1)

= (cos (g - 0) + isin (g — 9))71 ->(1)

PART -lll ( 7x3=21)

Answer any 7 questions. Q.No. 40 is compulsory.

Q.No. Ccimroriec (: Correct Answer
1 c) (_41 i)
2 b) (cos2 g) AT
3 c) |4|(-D?
4 d) e(Al/A3)’ (%)
5 c) _T3n
6 b) -1
7 b) | —
8 d) —n<arg(z)<m
9 d) —4
10 a) mn
11 o |
12 9 |10
1
13 d) tan~! (E)
14 b) L VB
15 c) 10/3
16 a) 2
17 a) 2ab
18 c) (5,-2)
19 d) 0
20 c) z=15

Q.NO. ANSWER KEY
AB = BA = 41 >(1)

31 -5 1 3
(B)l= Z[ 7 1 —5] ->(1)

1 -1 1
(x,y,z) =(2,1,-1) ->(1)

32 | 1_7+#

u B 25 9(2)
u==(7-1 >(1)
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33 | z=-3-1)"s >(1) a,=1+2i; a,=1-2i;
. 2m . 4w 41(b) az = \/§; Ay = _\/§ ~>(1)
z=-3, —3cis4-, —3cis— ->(2) as +ag =1 (1)
=-9 1
34 |AProotsare=a—d,d, a+d >(1) xz_:s_a; _o :((1))
4 2
Roots =2 '3 3 >(2) X = 1i;/ﬁ ->(1)
35 bZ — 4ac 2z+1 _ ((2x+1))+iy 9(2)
iz+1 1-y)+ix
=4p? —4(@*—q*+2qr—7%)  >(1) 42(a) | ) 1oyyx(zrrn) . S0
=4(q—-1)*>0 ->(1) (1-y)2+x* @)
Roots are rational ->(1) = 2% +2y'+x-2y=0 (1)
36 _1( 4n) 1 (57r)
cos™|(cos— )+ cos™|— 42(b _1( 2 _ 2
5 4 O tan (225 = tan i () >
_ 4m -1 _5r 2cosx 2
= — +cos (27‘[ 4) ->(2) o = >(1)
_ 4?11 + %n _ 321% (1) sinx(sinx — cosx) = On ->(1)
x=nn& x =nmw+— ->(2)
37 | tan-t (w) — >(2) *
1-xy-yz-zx Rough Diagram ->(1)
x+y+z=xyz >(1) 43(d) | AB=BC=CA=+3 >(1+1+1)
38 |la=2 ENTY) Equilateral triangle ->(1)
center = (—1, g) ->(1) Since even order type-2 equation, roots are
radius = \/75 9(1) 43(b) x=-11 9(1)
+(x?-1)
Quadrilateral diagram ->(1) — 6x* —35x3 +56x2 +35x—6=0 ->(1)
39 _ 1, —— —_ 1, — —_—
Area—E(lAB_i‘ACLJ’E(ACXAD) ~(1) 6(x2+5)-35(x+3)+62=0 >(1)
=3 |AC x BD| oty 6y2 —35y +50=0=y ==,2 (1)
40 N ,\ 1 1
=20+3]+5k; d=—-20+3j+4k >(1) x=2,-,3,; ~(1)
ra=dan ->(1) 44(a) | (x—2)2=5(@+1) (1)
2% +3y + 57 = 25 5 vertex =, -1 >
Focus = (2,1) ->(1)
Directrix: 4y +9 =0 ->(1)
Length of Latus Rectum =5 ->(1)
PART - IV (7 x5 = 35)
. 44(b) Rough Diagram ->(1)
Answer All the questions: - P
a=cosai +sin fj
. . " ->(1)
41(a) A4T =1 (1) ) _.bzcosai +sin S
a=2;b=-3;c=6 —~>(2) a-b=cosacosfB+sinasin f ->(1)
6 -3 2 - -
ATl =47 =%[—3 -2 6] ->(2) a-b=cos(a—ﬂ) ->(1)
2 63 cos(a—f)=cosacos f+sinasin B >(1)
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45(a) P -2 k 1 1
~|0 2-2k 1-k -3 >(2)
10 0 (k+2)(1-k) ~(k+2)]
k = 1 then no solution ->(1)
k # 1;k #+ —2 then only one solution  >(1)
k = —2 then infinitely many solutions  —>(1)
45(b) | G = 21+ 27+ k
b=17-2]+3k
B =30— 4 + 5k (1)
Parametric vector equation
7= (20+ 27 + k) + s(—7— 47 + 2k) + t(31 — 4] + 5k)
->(2%)
Cartesian equation
12x — 11y —16z+14=0 ->(2%)
-1<2-3x%2<1 >(2)
46(a) s<x?<1 (1)
1
NG <l|x|<1 ->(1)
-1 1
e|-1 Flvlz1] >
Rough Diagram ->(1)
46(b) | Equation of parabola
x% = —4ay >(1)
025 1
=T >
height = 3 8§ ->(2)
47(a) A=—22 >(1)
A, = —66 >(1)
A; = —88 -(1)
x=2;y=3;z=4 =>(1)
47(b) | arg(z — i) —arg(z +2) = % >(1)
arg(x +i(y — 1)) —arg(x + 2 +iy) = % ->(1)
-1 (Y2 _pn1 (2 =2
() (2) =1
(y-1)(x+2)-xy _
x(x+2)+y(y—-1) o >
x2+y2+3x—-3y+2=0 >(1)

Note: Award Full mark for correct Alternate
method also.
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